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SECTION-—A

Question Nos, 1-40 carry 1 mark each. For each
1/4 mark will be deducted

WIONE, ANBWET,

Okun’s Law states that the percentage change in real GDP is proportional to

(a) change in the unemployment rate
(b) change in the consumer price inflation rate
(c) change in the wholesale price inflation rate

(d) change in the investment rate
In July 2017, Aamir bought a one-year-old house in Murmnbai for 50 crores, Which of
the following statements is true?

ase price of the house is accounted for in the no

or 2017-1%

e ega iivcetment
in t}z e%%sumpﬁon
(d) None of the above %

A real estate company begins construction er %lding in July 2015 for
sale but, at the end of the financial year (E¥) 2015-164 ble to complete a part of
the building. It completes the bu % n F 6%) t, is able to sell it only in FY

2017-18. Which of the followin; £ '-
(a) A part or whole of th ¢ of ¢ n of#he building is accounted for on the
B gl O i A e s tion t4 only in the year 2016-17

- mmzﬁmwm@f }

(a) ’I‘he purch

(b) The purchase price of the house is accounted for i
expenditure for 2017-18

(c) The purchase price of the house is accounted

expenditure for 2017-18

4
n of the building is accounted for on the
nts only in the years 2015-16 and 2016-17

of the building is accounted for on the
aly in the year 2017-18

uilding is accounted for on the
‘years 2015-16, 2016-17 and

of the employment rate

[P.T.O.
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and laboT is homogeneoyg o
L=

1 enute capitel . marginal product

5. A Cobb-Douglas production function WIt.h‘lanl“:]u] to 04, If I:h<‘4 réar%:v(*ra?co uct of o.

degree 1 and has output elasticity of C“lv"”_‘] C.((l”nl to 20, what is the aveTage prody,,

labor is 15 at a value of the (‘.fl|)i1."'ll'li“l)f)r "““}"(; lr‘nﬁ()?

of labor at the same value of the capital-1ab

(@ 375

(b) 100/3

(c) 25

(d) 50

; N aggregate nomin;
: my is growing faster tha gg‘ ! 14]

6. Suppose the stock of money in the economy —_— necesSarily true?

income in an economy. Which of the following statem

al output
: e .Of growth of re

(a) The rate of inflation must be higher than the rat 4

(b) The income velocity of money must be decreasing »

(c) The stock of real balances must be increasing (?b

. : d
(d) The economy is suffering from a deficiency of effectiv @
impli i % is a ¢

7. The Solow growth model implies that, if the labor ﬁe f a country 1s onstant

fraction of its population, ceteris paribus
an increase in the growth rate of the labor @ has a positive effect on the growth

rate of per capita income in the lo ‘
or force has a negative effect on the growth

(a)

(b) an increase in the growth rate ofsthe

rate of per capita income i ng run

(c) an increase in the gro the labor force has no effect on the growth rate of

per capita income in g run

h rate of the labor force sometimes has a positive effect

(d) an increase in t
ative effect on the growth rate of per capita income in the long

and sometime
= O

8. What is the main instrument of monetary policy used by the Reserve Bank of India?
(@ CRR
(b) Quantity of Non-Borrowed Reserves
(c) SLR
(d) Repo Rate
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10.

11.

the 18-LM model. Suppose the LM curve is positively sloped. Planned
is simply an increasing function of

Conaider
hich saving is equal to

investment expenditure is exogenously given. Saving

ngeregate income. There always exists a level of income at w
investment. Assume that there is no governinent expenditure and net exports are zero.

Which of the following statements is necessarily true?

The 18 curve for the economy is a horizontal straight line

()
(b) Changes in the quantity of money have no effect on the equilibrium level of income
(¢) Changes in autonomous expenditures have no effect on the equilibrium interest

rate

(d) None of the above
economy

The theoretical result that once-for-all changes in the supply of
affect nominal variables but, do not have any effect on re acr nomic \Eriablcs

including real output is known as

(a) the purchasing power parity doctrine

(b) the neutrality of money

(c) the policy ineffectiveness proposition

(d) the Fisher effect

4,4). Let Y = X*. What is

£ | CE L Tam s S | .
u,!r(ulml'x;u”'-}'v/ di “,nnJ]u){tll‘u‘\\,h_ut on the 1r

Y has a realizat

than 2 ?

 bilit

[y that u.,\,r;:u]aumn variapi
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g are gelected at random. Ty

tudent
13. In a class, there are 5 boys and 5 girls. 4. &

probability that 2 boys and 2 girls are selected 19
(a) 08§ “

(b) 04

© 10/21

(d) None of the above

greater than 0. P(B), 1,
probability of A given g
< P(A). Which of tp,

14.  Aand Bare events. P(A), the probability of event A, 18 stcrlctly
probability of event B, is strictly greater than 0. P (A]B) 18
P(B|A) is the probability of B given A. It is known
following statements is necessarily true? ‘

(@)  P(B|A) < P(4)
(b) P(B|A) < P(B)
(c) P(B|A)> P(B)

(d) None of the above

BC is the complement of B. P(A), the

15. A and Bare events. A€ is ,
robability of event B, is 0-3. Also, P(AU B, the

probabi-ﬁ'tii of event A,
probability of event ’
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x +2yand 2x + 3y when

integers with x > y. Now suppose 3
is divided

17. Suppose X and yare positive
divided by 5, leave remainders 3 and 2 respectively. It follows that when x — Y
by 5, the remainder necessarily equals
() 1
(b 2
() 3
(d 4
18. For n > 1, consider the following two numbers :

(i) [n;7+n;3]

(i) [7n; 19]

State which one of the followin

g statements is true.

™
& ";"

om the information

(@) (i) is greater than (ii)

(b) (i) is less than (i)

(c) (i) is equal to (it)

(d) The relationship between (i) and (i
given

te

19. V can take any value (positive | \tive or zero)mlU
following functions is/are monotonic trar sformation(s) of V?
() u=2v-13

(i) u=e’ +v?
l;@ RN

Ve

(i) w=

(@ )

e (L
'y .,Lunr.l (LL

[P.T.O.
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following *

22 and 23 on the basis of the .
ty function -

Answer Question Nos. 21,
A random variable X has the following probability densi

flx)=e * for 0 < x <o
f(x)=0for x<0

21. Probability (X > 1) is equal to

(a) 1/e
(b) 1-1/e
€ e2

(d) None of the above

22. Probability (1 < X <2) is equal to
(@) 1/e
() 1-1/e
€ (1/ex(1-1/¢)
(d) None of the above

23. The mean of X is equal

(@) 1/e

lously differentiable function.
always true that
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given below regarding elements and subsets of the following set :

-{1,2 (1,2 3)

these statements is correct. Which one is it?

25, Four statements arc

Only one of
(a) {L2j€S
() (L2}cS

€ {L23cS
(d 3€S

= k for iand k is a

26. Let xj, X5, 5 X100 be positive integers such that x; +Xx;
constant. If x5 = 1, then the value of x; is

(a) k
(b) k-1 S

() k+1

@ 1

27. A salesman sold two

5_ (a) lost ¥1

‘ (b) gained €1 Bic
() neither gained nogfiSSiR Ny L, )7
(d) lost €2 @ > | -

., If the sho
a certain rar

i l‘_’(a) the firm'
ming that output

| axis

ds on whether

(P.T.0.
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1 4.... Then S is equal t©
29. LetS=l+-%+%+4+ Th

31.

~ one is not a

@ 2

b =«

e 6
The ; alue
sum does not converge to any finite V

FRY

@
n two t0sses of a fair dies

once i

: t
What is the probability of a 4 turning Uup at leas

(@ 11/36

b 1/9

© 1/12

(@ 1/4

A cake has to be distributed betwe A Q%mng the fonowing, which
* : e %he standard assumption that

s not an efficient distribu
‘more is better’ for any pers

oP

nly two candidates. The winner was
308 votes more than his rival. The
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33, A Band Care three commodities. A packet containing 5 pieces of 4, 3of Band 7 of C
costs € 42. A packet containing 2, 1 and 3 of A, B and C respectively, costs ¥ 17. The
cost of a packet containing 16, 9 and 23 items of A, B and C respectively, is

(a €55
() €75
(o)~ 135

(d) Cannot be determined from the above information

34. A worker suffers a 20% cut in wages. He regains his original pay by obtaining a raise of

(a) 20%

(b) 22:25%
(c) 25%
(d) Cannot be determined from the above informatio

bc

35. S is the set whose elements are zero and all d negative.
Consider the five operations (i) addition; (ii) subtraction; liceftion; (iv) division;
and (v) finding the arithmetic mean. W of these op tion@ # applied to any pair
of elements of S, yield only elements

(a) (i) (i) (i), (iv)
(b) () (@) (@), @)
(c) () (i), (w)

L l’"u.él

(d) () m {11;15 .

o1

Answer Question Nos the following :

In an economy, theag
30 percent resp 6&*

| RO,
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37.

38.

39.

. ars
. sixty ye
The industrial sector’s share in GDP over the

(a) will keep on increasing every year L geclining
ta
d then S
will increase for the first twenty years an +t declining soon after

(b)
years though st

[c) will certainly increase for the first forty

(d) will remain constant
tor’s share in GDP exceed that o

Starting from the base year, when will the services S€C

agriculture?

(a) Within the first 15 years

(b) Not before 15 years but not later than 25 years t

(c) Not before 25 years »

(d) Never %

; b tput in a year, the

In an economy tcndm‘g to prodtfce below its maxi i @;1 tax rates unchangeq

government steps up its expenditure by 10 percent T

Which of the following consequencés of this would y

(2) The fiscal deficit will necégsarily increas actly the same amount as the
increase in expenditure

(b)  If the fiscal deficit was otherwise going to b€ 5 percent of GDP in the absence of the
stepping up of expenditure, it w fhcrease to 5-5 percent

(c) If the government expendi P ratio was otherwise going to be 25 percent
of GDP in the absence tepping up of expenditure, it would increase to
275 percent %

(d) None of the above

In an economy mm o indirect taxes or subsidies, the gross value added by all

production urf%rla year is 10,000 crores. ® 1,000 crores of this is in foreign owned

firms, which r.

(@) ¥ 10,000 crores
(b) ¥ 9,000 crores
() ¥ 99,000 crores
(d) ¥ 9,500 crores

fmaem A

4]

Scanned by CamScanner



MROTION -1

Attempt all quenstions

Question Now, 41-49 carty 5 omarks each

Question No, 80 carrien 15 marks

Suppose in an economy pg = pifor 0001 0 2u and py = 0.75p, ;, where p, is the rate

of inflation in period ¢, pf is the expected rate of inflation in period t and u, is the rate of
1,2 3-) Suppose in period 1 expectations regarding

41.

unemployment in period t(t =

inflation are realized and the unemployment rate in the economygemains constant from
period 1 onwards. Answer the following questions :
(@ What is the value of the inflation rate in period 3 éﬂ
What happens to the value of the inflation rate ~ &
i i rate in the

(b)
For what value of the inflation rate in peri e m&

(c)
economy remain constant from period 2 ards?‘

0,
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026~ 107+ 0.-85(Y T 1™ 1610~ 30r, G=
where Y ¢ aggregate ing 650’
g expendi:;ne.

I

4
2. )C{loznls:doe; an economy in which €=
, M =700+0-08Y and T= 100+0-2"
LA egate v
s, M : imports, 7 .
. tax

aggre
gate consumption expenditure,
nd se
pcrccnt).
cconomy?
my lies on the 18 curve, wha
terest is 3 pef;ent?t i8 th,

(A
G ‘.
! gove
rnment expenditure on goods a

revenues and .
(a) What is ﬂr, rate of interest (expressed in
e slope of the I8 curve for this
econo

(b) Assum n the
ing that V.

: the value of (Y

budget deficit of the governm,ts’thi when

the rate of in
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5,05
e we have a Cobb-Douglas production function given by f(x, W= x0840%,

43. Suppos
. batitution for this production function at x = y = k.

Evaluate the technical rate of su

o
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n is given PY Uk, W=X+y N,

4. In a two-good world, a consumer’s utility fanctio 2. The consumer hag ,

| 80
suppose the price of good x in € 2 and price of #004 V1% 8011 ndles (if any)? Expy
mcome of € 100. What are the utility maximizing ¢
your answer carefully,

peumptio .
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45. Let the probability density function of the random variable X be as follows
) f(x)=c@x-2x2), if 0 <x <2 and (ii) f(x) = O otherwise. What is the value of f(1J?

(Note that your answer should not be in terms of c)
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imultan
Consider a gambling game where you have to throw tWe falredi(c: z, i o?;sly. Yo
would gain & 2 for any even number that shows up, and los <

that shows up. What is your expected pain or loss from

46. v Yo,
the game? e
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48. Consider the following optimization problem :
Maximize f(x, i) = x2 - y2 subject to g(x W~

| x-y=0

Find solution to this problem (if any).
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49. Compute the value of m‘oa Nydx, where log v in the natural logarithim of 1t s known
that log2 =~ 0. 693,
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words :
¢ an adequate basgig
sia g,
itous relationship
th
at

‘he inigqu
their view, could
the

(a) Does Ri
. Ric s
trade lib ardo’s theory of
How d eralization? comparative
bisch and Hans Singer cxplnln ;
and how, in
na liquidity trap? Exp)
. ai
Kk fixes the interest In,
Tat’

(b)
developi
pmg co .
developi ountries fi :
ping countries reE:r(::cl?l f’votrld !
his tren
ral ban
y work in such

°h

(c) What poli
‘d) What :}ollalc.v Options are left for a 1 d
_ pe do closed €
instead of theefnt,hne LM curve take when the cent
ey
supply? How does monetary polic

¢ than 500
rovid

50 A
. Answer any
v one of the following in not mor
ndvnnmgt‘-
trade

conomy stuck i

economy?
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